
Super Teacher Worksheets - www.superteacherworksheets.com

Name: 

Daily Word Problem

answer: ____________________

A-61

2 0 0 018

There are 7 lemons and 6 oranges in 
a bowl.

How many pieces of fruit are in the 
bowl?

Show your work.
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answer: ____________________

A-62

2 0 0 018

Joy and Pat play a card game.

Joy wins 4 times.

Pat wins 5 times.

How many times did they play?
Show your work.



Name: 

Daily Word Problem
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answer: ____________________

Meg bought some sweets.

She spent $5 for ice cream and $2 
for pie.

How much money did she spend in 
all?

Show your work.

A-63

2 0 0 018



Name: 

Daily Word Problem

Super Teacher Worksheets - www.superteacherworksheets.com

answer: ____________________

A-64

2 0 0 018

Ryan spent the day bird watching.

He saw 7 yellow birds and 5 red birds.

How many birds did he see in all?
Show your work.
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Daily Word Problem
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A-65

answer: ____________________

2 0 0 018

Fifi and Rover are dogs.

Fifi weighs 7 pounds.

Rover weighs 14 pounds.

How much more does Rover weigh 
than Fifi?

Show your work.
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Daily Word Problem

ANSWERSA-61 through A-65

2 0 0 018

answer: ____________________

Fifi and Rover are dogs.

Fifi weighs 7 pounds.

Rover weighs 14 pounds.

How much more does Rover weigh 
than Fifi?

Show your work.

answer: ____________________

Meg bought some sweets.

She spent $5 for ice cream and $2 
for pie.

How much money did she spend 
in all?

Show your work.

answer: ____________________

Joy and Pat play a card game.

Joy wins 4 times.

Pat wins 5 times.

How many times did they play?
Show your work.

answer: ____________________

There are 7 lemons and 6 oranges 
in a bowl.

How many pieces of fruit are in the 
bowl?

Show your work.

9 times13 pieces of fruit $7

7 pounds12 birds

14 -- 7 = 7

5 + 2 = 74 + 5 = 9

7 + 5 = 12

7 + 6 = 13

answer: ____________________

Ryan spent the day bird watching.

He saw 7 yellow birds and 5 red birds.

How many birds did he see in all?
Show your work.


